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pH de inicio de precipitacion

= 2 511BBE-39

= Pl = 2.51188E-37
001

7.94328E-16

_ 7.9432BE-16 - 7 04378E-14
0.01
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afe”(OH) 1 : Ba(OH) + Ba(OH)* Bs(OH)*
afe™[OH) 1 + 0.1 . 0.005011872 1E-36
aFe” (OH) 1.10501187 | LOG= | 0.043366944
[Fe™), = 0.01 - 0.009049677
. 1.105011872

aFe”’(OH) 1 + B(OH) + Ba(oH)* Bs(OH)’
nF:BI_'OHI 1 . 3.16228E-08 + 1E-24 1E-36
anhi,'ClH} 1.00000003 LOG = 1.37336E-D8
[Fe™], - 0.01 - [ em
1.000000045
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aFe’ (OH) = 1 + B.(OH) + B(oH)’ + 5 Bs(oH)’
aFe”'(OH) = 1 N 0.001 ' 5.01187E-07 + | 1ea
aFe’ (OH) = 1.0010005 LOG = | D.000434295
| [, - - 0.01 - | 0.00993000s |
1.001000501

aFa”'(OH) = 1 + B1(OH) + Ba(oH)' + Bs(oH)’
ufeh[OH] = 1 + 3.16228E-10 ¥ 1E-28 + 1E-42
aFe’ (OH) = 1 LOG= | 1.37336E-10
{ [Fe™) = 0.01 = r 0.01
1
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aFa’'(OH) 1 + P1(OH) B,(OH)’ Bs(OH)’
n}'ta*{OHi = 1 + 0.01 5.01187E-D5 1E-39
aFe’ [OH) = 101005012 | LOG= | 0,004342924
[Fe™], - e = 0.01 0.009900493
aFe’OH) 1.010050119

aFe’"|OH)

P1(OH)

aFe’"|OH)

3.16228E-09

ofe”|OH)

1.37336E-09

24,

[Fe L

o.o01
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X £ (V)
0 ING
0.01 0.3862
0.02 0.4836
0.03 0.5439
0.04 0.5893
0.05 0.6267
0.06 0.6595
0.07 0.6892
0.08 0.7170
0.09 0.7437
0.10 0.7699
0.11 0.7960
0.12 0.8227
0.13 0.8505
0.14 0.8803
0.15 0.9130
0.16 0.9505
0.17 0.9959
0.18 1.0561
0.19 1.1535
0.20 1.3867
0.21 1.4944
0.22 1.4980
0.23 1.5001
0.24 1.5016
0.25 1.5028
0.26 1.5037
0.27 1.5045
0.28 1.5052
0.29 1.5058
0.30 1.5064
0.31 1.5069
0.32 1.5073
0.33 1.5078
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Curva de titulacion potenciométrica
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